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BEARRE A F164E BN H SRR BN A

% R R - BRI BfL % B B ® # m o=
EEANER 4,108, 000
HREARE 4,108, 000
HREARE 4,108, 000
HREARE 3,536, 778
REER 344,226
1 REER 1.00 232, 603 232, 603
=
2 HMAMERQEESZY) 1.00 111, 623 111,623
=
E&HRE 1,208, 815
3 giEM 8.00 105, 047 840, 376
Hh =
4 %iE2) 17.00 15, 252 259, 284
Hh =
5 FRHER 1.00 109, 155 109, 155
=
AT 1,397,920
6 S HTER MESER. Sk, BREE 1.00 1,397,920 1,397,920
=
& - S 165, 900
1 EATHE 1.00 96, 600 96, 600
=]
8 mWMmE 1.00 69, 300 69, 300
=]
R 419,917
9 EHTHREER 1.00 419,917 419,917
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E#EEE 571,222

R& 9,162

10 f#& 1.00 9,162 9,162
=

| 474,060

11 ZEERR 1.00 474,060 474,060
=

S 43,000

12 %R 1.00 43,000 43,000
=

EIREE 45,000

13 lETEERE 1.00 45, 000 45,000
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% g - AKSTiE Bifr 2 fiff & 8 1
EENEE 3,688,083
HEHE 3,688,083 x 73.6% — 2,512 2,711,917
AEEEE 3,688,083 + 2,711,917 6, 400, 000
E R 415,760 + 4,157 419,917
EEAGE 415, 760
BEiEEE 4,157
T DR 415,760 x 53.85% ( 35% <+ (1 — 35%) ) 223, 886
RHIRME 419,917 + 223,886 643, 803
—REERF 643,803 x 53.85% (35% = (1 — 35%) ) — 490 346, 197
HEREE 643,803 + 346,197 990, 000
BB E TS 6,400,000 -+ 990, 000 7,390, 000
HERSELE 7,390,000 x 10.00% 739, 000
AEEBE 7,390,000 + 739,000 8,129, 000
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&5 1
& RAEERE 1LY
2 b g - BIRTE L= vd = B oO(f 25 W = " =
BIEFEHEM
A 1.50 54, 600. 00 81,900
RIS HER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
MR =LY
% 1.00 230, 300. 00 2,303
& B 1E%HeH - 1.00K 232, 603. 00 232, 603
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2 b g - BIRTE L= vd = B oO(f 25 W = " =
BIEWHEE
A 2.00 25,900. 00 51, 800
FSvy 2t
B 2.00 29, 359. 00 58,718/4.70H / 8H
M =LY
% 1.00 110, 518. 00 1,105
& B 1E%HeH 1,00 111, 623. 00 111, 623
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2 b g - BIRTE X = B ) W = " =
REE S4 kY 2L
B 1.00 3, 560. 00 3,560/2.00H / 8H
SREM FRP D 70PSZ%! 3.0t
B 1.00 83, 361. 00 83, 361 8H
RIS HER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BIKE(F A1) 10mEL £ 20mR 55
A 1.00 56, 600. 00 56, 600
HBKLTHEE (A4 /\—) 10mLL £ 20mk 5
A 1.00 56, 600. 00 56, 600
rm\Eyg
A 1.00 27,900. 00 217,900
MR =LY
% 1.00 312,021.00 3,120
& B 1E%HES : 3. 00K 105, 047.00 315, 141
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2 1R Q) 1B Y (15 94h&)
2 b g - BIRTE By = B ) W = " =
REE S4 kY 2L
B 1.00 3, 560. 00 3,560/2.00H / 8H
SREM FRP D 70PSZ%! 3.0t
B 1.00 83, 361. 00 83, 361 8H
RIS HER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEENF
A 2.00 34, 600. 00 69, 200
MR =LY
% 1.00 240, 121. 00 2,401
& B 1YEZRES - 15904 = 15, 252. 00 242,522
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2 b g - BIRTE L= vd = B oO(f %8 W = " =
Bl S H A
A 2.50 36, 900. 00 92, 250
REE S4 kY 2L
B 2.50 6, 762. 00 16,905 6. 00H / 8H
& B 1E%HeH - 1.00K 109, 155. 00 109, 155
ES .6
£ AR MERER. Skib. BEEE IEED)
2 b g - BIRTE L= vd = B oO(f %8 W = " =
A EE A BR
BRIk 73.00 14, 400. 00 1,051, 200
Skt
BRIk 73.00 1,520. 00 110, 960
mEEE
BRIk 56. 00 4,210.00 235, 760
& Hi 1E%HeH - 1.00K 1,397, 920. 00 1,397,920
&5 .1
¥ BATHE HEED)
2 b g - BIRTE = v = BHO(f %8 W = " =
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HER
A 0.50 47,100. 00 23, 550
Bl S H A
A 0.50 36, 900. 00 18, 450
& Hi 1YEZHER - 1.00[E 96, 600. 00 96, 600
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2T EW|E HZEP)
£ b g - BIRTE BAf = B %8 # & &
IS EHER
A 0.50 54, 600. 00 217,300
RIS HER
A 0.50 47,100. 00 23, 550
B
A 0.50 36, 900. 00 18, 450
& Hi 1YEZHEH - 1.00[E 69, 300. 00 69, 300
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£ EHTERBEEER 1LY
£ b g - BIRTE BAf = B %8 # & &
FEHRAR (F%ET)
A 0. 60 64, 800. 00 38, 880
e (B)
A 3.50 47, 200. 00 165, 200
g
A 6.30 33, 600. 00 211, 680
EHERARE FHEEDY
% 1.00 415, 760. 00 4,157
& B 1E%HeH 1,00 419,917. 00 419,917
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B kB 1%Ly
£ b g - BIRTE BAf = B %8 # & &
RBE HEE (GES)
= 1.00 9,162.00 9,162
& B 1YE%HeH - 1.00K 9,162.00 9,162
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ZEEEMm FRP D 180PS#Y
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MR =LY
% 0.50 471,702. 00 2,358
& B 1E%HeH - 1.00K 474, 060. 00 474, 060
&5 .12
2% EBHRRA 1LY
2 b g - BIRTE L= vd = B oO(f %8 W = " =
EBHRERERE
= 1.00 43, 000. 00 43, 000
& Hi 1E%HeH - 1.00K 43, 000. 00 43, 000
&5 .13
L% BIEERE 1LY
2 b g - BIRTE = v = BHO(f %8 W = " =
MEIERRAE
I 1.00 45, 000. 00 45, 000
& B 1E%HeH 1,00 45, 000. 00 45, 000




